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derivative security
underlying

over-
the-counter 0TC

contingent claims

1.1

forward contract)

long position
short position
delivery price

forward price




1.1 1991 9 11

1.7280
30 1.7208
90 1.7090
180 1.6929

1.1 1991 9 11

$1.7280
30 $1.7208
90 $1.70906

payoff
St- K

K- Sr
1.1



\

S

1.1

1.2

futures contract

Chicago ford of Trade
Chicago Mercaniile Exchange CME
5000 5

L2

CBOT

CBOT



12 $500
12

1.3

1973

call option

exercise price or strike price

putoption

expiration date exercise date maturity

American options
Eurolpean options

100  IBM
$138 2

$140
$140
$140
1.2

$142

$5

100
$15
$10

$140

$140
$140
$500
$155

$1500
$1000



$300
T BB
30r

20F

10

$500

110 120 130 140~ 150

1.2 1BM
$140
100
$90 $86
$65
$90
$25m
$18
$90
$700 1.3
1.3 EXXON
)
1.3
1.4 1BM
1.5 Exxon

HHARE )
160 170
$5
Exxon
3 $7
$90
100
$25
$1800
$7
:$7 :$90
(
( written
1.4 1.5 1.2
:$5, =$140
=$7, =390



w

max(Sr-X,0)
St X Si< X

- max(Sr-X,0)

min(X-Sr,0)

man(X-Sr,0)

- man(X-Sr,0)

min(Sr,-X,0)
1.6

1.6

1.4

Interest rate caps

$10 000 000
12 3
14 3
$10 000 000x 2 x 1 4

$50 000



Standrd Oil' s Bond Issue

1986
$1000
170
$25 $2550
$40
ICONs
1985 Banker Trust
ICONs index currency option notes
X1
X2 Xi X2 X1
X2
X1 X
Long Term Credit Bank of Japan I1CONs 1CON
S 1995 169
$1000 169
e ad69 _ou
maxg(),lOOOg? - 150
84.5
range forward
contracts 1991 9 11 .
90 1.1 90
$1.7090
$1.6700 $1.7500 $1.6700
$1.6700 $1.6700 $1.7500

$1.7500 $1.7500



1.5

hedger
90 1 000 000
90
1.1 90
$1 709 000 1 000 000
$1.8000
$91 000
$1.6000
$109 000
90
$1.70000 1 000 000
90 $1.7000 $1 700
000 $1.7000
speculator
1.1
90 $1.7600
$1.7090 $1.7600

$0.0510



$32

$0.50
$35
$40
arbitrageurs
$172
$1.7500
100x%
$300

15 20

$0.50 100
$4.50

100.
100

$1.75x 100—$172

1.6

$35

900






2.1

3 CBOT
7 5000
COBT
7
-
commis- sion
broker
locals
5
mar-ket order
limitorder
closing out a position
3 6 7
4 20 7 3 6
7 4 20 7
3 6 4
20

2.2



A BriX 57 ;Brix 13 1 19 1

37 37 19 94
CME
2x4s 8 20
1 2 2 50

California ldaho Montana Nevada Oregon Washington Wyorning
Alberta BritishColunlia

Alpinefir Englemann hem—fir lodgepole sprucepineflr

CBOT
1] #2 ”

CBOT
15
15
6.5 10

$10 000 $20 000
CBOT
$100 000

CME



Califomia Idaho Montana Nevada Oregon BritishColumbia

CBOT
Burns Habor Toledo St.Louis Toledo St.Louis
4
MM 3 6 9
12 CBOT 3 5 7 9
12
NYMEX
CBOT 1/32
$0.01 1
1/32
$1
limit down
limit up
a limit move
CME 1000

300



2.3

6 1
1992 12
$400 100
200
account
initial margin
$2000
marking to market
6 1
200x $3  $600
200 12
$600 $3400
$403
$4600
$600

maintenance margin

call

200

1992
COMEX

margin

$397

$600

margin

variation margin

$4000
$400
$400

$397
12
$600
$600
12



2.1

$1500
$3000 6 9 $340
$1340 “ ”
6 10 6 15
$1260
6 16 6 22
2 $392.30
$1540 6 10 17 18 19
2.1
$2000, $4000
$1500, $3000 6 1 $400 ,
6 22 $392.30 2
$ $ $ $ $
400.00 4,000
1 397.00 600 600 3,400
2 396.10 180 780 3,220
3 398.20 420 360 3,640
4 397.10 220 580 3,420
5 396.70 80 660 3,340
8 395.40 260 920 3,080
9 393.30 420 1,340 2,660 1,340
10 393.60 60 1,280 4,060
11 391.80 360 1,640 3,700
12 392.70 180 1,460 3,880
15 387.00 1,140 2,600 2,740 1,260
16 387.00 0 2,600 4,000
17 388.10 220 2,380 4,220
18 388.70 120 2,260 4,340
19 391.00 460 1,800 4,800
22 392.30 260 1,540 5,060




90
50

75

day trade

spread transaction

exchange clearinghouse

clearing
margin



gross basis
net basis
20
15 35
5
2.4
2.2 1991 10 18
1991 10 17
2.2 CBOT
5 000
1991 10 17
1991 12 1992 3 1992 5
7 1992 9 1992 12
1
10 17 12 247Z
3 1
246— 249
4 4
settlement price
1991 12
1991 10 17 248 1991 10

1992

1991

16



1991 12

1991 10 17
5000x2
17 10 16
1991 12
220 1991 10
2.2
1991 10
12
1991 10 16

33 000 1991 10 16

2.2
York Mercantile Exchange
normal market
York Commodity Exchange
inverted market

2.5

1991 10 16 $100
1991 10
$100
275
open interest
1991 10 18
16 1991
121,226
2.2 1991 10 17
1991 10 16
1991 10 15

1991 10 17
34 250 1991 10 16
237 082 1,880

New

New



2.1 2.1 a
2.2
2.1 b 2.2
2.1 ,
2.6
S P500
500
S
P500
“ triple witching hour”
2.7
short hedge
long
hedge
50
1.



basis risk

basis)

2.2 2.1

strengthening of the basis

weakening of the basis

S1 L8]
S2 L)
F1 T
F2 L)
b1 t
b2 t
t L)
$2.00 $1.90

S; 2.00 F2=1.90

b 1 Fi
b S2 F
b: 0.30 b2 0.10
L )
S2

S Fr F2 Fi b
$2.30 t F1

b,
basis risk
t1

$2.50 $2.20
S$1=2.50 F1 2.20

t
Fi F2

b2

t
S



F1 F2
S Fr 2 Fi b

$2.30
b2
S; L )
S t
S B R
F1+(S; - F2)+(Sz' Sz)
(s-F.) (s.-s)
(s.- )
1.
2.

NYMEX

t

Fi



6 9 12 12 1
2 3 3 4
5 6
2.1
3 1 , 7 50,000,000
MM 3 6 9 12
12,500,000 , 3 1 4 9
7 , 3 1
0.7800 ,
0.7200  0.7250 , 0.0050

0.7200 0.0550 0.7750

0.7800—0.0050 0.7750

50X0.00775 , $387,500
2.2
6 8 , 10 11 20,000
NYMEX ,
1,000 12 , 20
12 6 8 $18.00 11
10 11 10
$m $19.10, $0.90 $18.90,
$378,000 $20.00 $1.10
) $18.00 $0.90
2.8
1.0
1.0
S S



OF F
p S F
h
S-h F
h F S
n=si+h’sZ-2hrs.s,
n
%:Zhsﬁ- 2rs .S,
1°n/ qh?
h=r=s 2
=r 3 (21
2.2
S F
F 2.2
p 1 0Of0Os h 1.0
O F=20 s 0.5
2.3
3 100
0.032
heating oil 3
0.040, 3
0.8
, 0032 _
08 0.040—0.64
42 000
, 1,000,000
42,000

15



2.9

T
1 2 n
T 1
| ) 1
2
t 2
3
th n-1
n
T n
T
n
n—1
2.4
1992 4 1993 6 100 000
1.0 $19
6
100 19922
10 1992 9 1993 3
19 2 1993 7
1 2 4 1993
$19 $16 1992 $18.20
$17.40 $0.80 1993 3
$17.00 $16.50 $0.50 1993
7 $16.30 $15.90
$30.40 $1.70
$3

.10



1.0

1.0



N

A $100

3.1

A§i+j39
ma

R 10 n 1
$100
$100x 1.1 $110

m 2
$100x 1.05x 1.05 $110.25

$100

31



m 4 $100
$100x 1.025° $110.38

3.1 m m
continuous compounding
A R n
Al T 3.2
e 2.71828 3.1 A 100 n 1.R
0.10 A
100l ** =11052
n " R n
e—Rn
R1 R2 m
3.1 3.2

| R ::§i4.f§;2
m 2
3.1
$100 10
$100

mo1 110.00
mo2 110.25
mo 4 110.38
12 110.47
52 110.51

m 365 110.52




R = mindi+ 23 (33

R, =m(l V™ - 1) (34)
m
In y Inx x €
3.1
10 3.3 ,m=2 R
0.10
2In 1 0.05 0.0758
9,758
3.2
8
3.4 ,m=4 R; 0.08
4(1°% - 1) = 00808
8.08 $1,000
$20.20
500  IBM
500  IBM
500  IBM

Short-squeezed

uptick



4 500  IBM

$120 7 $100

5 $4 4

500x $120 $60 000 5 500x $4
$2 000 7 500x $100 $50 000

$60,000—$2,000—$50,000 $8,000

1.
2.
3.
4.

repo rate repo or repurchase agreement
ovemightrepo

term repo

T
t
S t
St T t
K
f t
F t
r T t



t,
F
f F
3.2
F — S r(T—t)
F s r(T— t)
S T—t
T F
T F—gmd
F S r(T— t)
T—t
s r(T—t) F
3.3
$40,3 5
40
F =40 *® °® = 4050
$40.50

$40.50

3.5

3

T—t 0.25

S r(T—t)

r 0.05 S



A Ke— r(T-t)

B
A T
K T
t
f+Ke'™) =5
f=S- Ke'™ 3.6
0 F 3.6 f o K
F = $-r(T-t)
3.5
3.4
6
$950 6
6 $930 T t 0.50 r 0.06 K 950 S
930 3.6 f
f =930- 950e°° **® =808
-8.08
3.3
|
F S
F=(S-1)emY (37)
F >(s_ I)er(T—t)
T F
(S- 1) T
T F-(s-1)e™
F<(S-1)e™Y

(S_ |)el’(T—I) - F



3.5
$50 10

3 6 9 $0.75
| =075 %% +0.75¢ %™ + 0.75¢ *® = 2162

T t 0.8333 F
F =(50- 2162)e*® *** =5114

B
B |
T
AT
f+Ke' ™Y =s-|
f=S-1-Ke"™Y (39)
F f o K 3.8
F=(s- 1)
3.7
3.6
$900
$910 6 12 $60
6 12
9 10 ,S 900,k 910,r 0.10,T-t 1,

| =60e %% % +60e %% =11165

3.8 L
f =900- 11165- 910e %" =- 3505

+35.05

3.4



o]

0.05 5 $10
$0.50 $1m
$5
3.2
B e' q(T-1)
B
T T A B
t

f + Ke-r(T—t) =% q(T-t)

f = Sealn _ Ke (0 (39)
F f o K
F =gty (310
3.10
q
3.7
6 4
10 $25 $27
S 25,k 27,r 0.10,9=0.04,T-t=0.5 3.9
T
f - 2%-0.04' 05 _ 27e-0.l' 05 — _ 118
3.10 F

f =256°% 05 = 2576

3.5

f =(F- K)e"™? (311)

f>(F-K)e'™? f <(F-K)e'™"



f>(F- K)e'™"

(s, - F)+(K-5;)=-(F-K)

f-(F-K)e'™Y

f <(F- K)e"™?
T

(F - K)e" ™ - f

3.11 3.2 3.3 3.4

3.6
3A

3A



Cornell  Reinganum 1974 1979
Part Chen 1977
French 1986 1980
5
Part Chen 1977
Rendleman Carabini 1976 1978
3.7
stock 1ndex
3.2 1991 10 18
1991 10 17
1.S P5o00 500
500 400 40
X
80 CME
500
2. 225
5
3. NYSE

S P500

1981

1981
French

CME
20

225
CME



500
3.2 1991 10 18

4. MMI
MMI
MMI CBOT
500
S P500
MMI
q
F
F = Se(r— q)(T-1)
3.8
S P500 3
3 400
r=0.08 S=400 T-t=0.25 q 0.03.
F = 400e°® °5 = 40503
q
q
S P500
2.4
3.7

F > %(r—q) (T-1)

20

NYSE
S P500
3.10
(312)
8
F
3.2
2.4



arbitrage F<Seray
F>gr-ofn
trading
1987 10 19
Fgeran
6.04
S P500
57.88 12 S P500
80.75
1987 10 20
S P500 18
3.12 225

225

CME 225
5Se
SSF SQSF
225
225
B =1.0
B =2.0
B =0.5
T-t

E < a0

T-t

index

program

1987
20

10 19

225.06

201.50

12

Sk

5Sk

CME



S
F
N
F
500 S P500
400x 500 $200,000
B
D, =a+bD,
a t T
aS+bSD,
F o2
b_
S
N=b—
F
3.9
4 S P500
$2,100,000 300

300x 500=$150,000

2,100,000
150,000

S P500
400

1.5



. s . ’1 B 1.0
21 /3 7 B L >0 "
B B B* B B*
S
b-b* —
F
B B~
b*-b =
3.8
S
K
I's
A Ke—r(T—t)
B e-rf (T-19)
; t
f+Ke' ™Y =g (™Y
f =g (MY Ke'TD (313
= 3.13  f=0 K
E = gl Ty (314)
F
q 3.13 3.14 3.9
3.10
3.31991 10 18
CME

3.3 1991 10 17
IVM



3.

1.2000 0.8333

re r 3.14
T F
re r 3.14 S
F 1991 10 17
re 1
10
3.3
1992 6 1991 12
2.2
3.9
S
3.5 F
F:Ser T-t
U

3.7
F S+U ¢ ™

3.10
F Se r+u T-t

2.2.
4.5 1991 10 17

F

2.2

3.15

3.16

3.17

1.1



3.18

3.18

S + U er(T-t)

3.11
$450.
450,7-t 1
U 2% =1.865
F
F= 450 1.865 € =484.6
3.16 3.17
3.16
F S+U er T-t
S U
2.
F- S U €& ™
S
3.18
F s+U ™
3.19
1.
2.
(S V™ 3.19
3.19 F
3.18
F€ S+U €™

$2
r 0.07 S

3.15

3.19

3.18

3.19

3.20



F< Se(r+u)(T-t) 321

F < Se r+u T-t
convenience yield U y
Fer ™ S+U € ™
u y
Fey T-t Se r+u T-t
F =S (322)
3.20 3.21
0
2.2
y r u
3.10
cost of carry
r’
r-q q
r-r, u,
r u
c
F=Se® ™ 3.23
F=Se ¥ ™ 3.24
y

3.11



3.12

3

John Maynard Keynes

Keynes  Hicks

backwardation
contango

JohnHicks

3.24

normal



t _ Fe-l‘ T-t
T +S;
S, T
_ Fe—r(T—t) +E(Sr)e—k(T—t)
k
E
_ Fe—r(T—t) + E(ST)e—k(T—t) =0
F= E(ST)e("k’(“) (325
k S,
0 k=r 3.25 F=E(S; S,
k r 3.25 F E S
S, k
3.25 F E S
F E S
F=E S
0 F E S
E S
Houthankker 1937 1957
F E S Telser Houthakker
1926 1951 1927 1954
Telser “
" CGray 1921 1959
Telser Dusak 1952 1967
S P500

Chang

F

E



3.13
1.
2.
3.
3.4
3.4 /
S
K
/
S_ Ke—r(T—t) %r(T—t)
I S-1-Ke'™Y (S- 1)er™y
q G (-0 _ ke T(T-D G- ATy

3A



[(F.- Fo.) +(F,. -
=(F,- F

n

ST end

F 1
ed
e2d
ead
i
(F- F - e’

n

(F - F - Dete™ = (F - F - D"

O)end

a

=1

(ST B Fo)end

(F - F - e

_2)+ +(F1' Fo)]e”d

Fe™ +(S; - Fy)e™ =S.e™

di



F. F
235 325
293 ©
(Fi-Fo)€ (F>-Fy)€
ns

(Fi-Fo)e (F>-F1)e

293

no



4.1

n n
3 3 5
“ ” n
n n
n-year zero—coupon yield
4.1
10 $100
100e0.10=$110.52 10.5 $100
100e*'® ? =$12317
4.1
n n n
p-a. p-a.
1 10.0
2 10.5 11.0
3 10.8 11.4
4 11.0 11.6
5 11.1 11.5
4.1 11

10



10.5

$100
10.5
$123.37
11.4
r T
r=0.108 r'=0.11
4.1
4.1
3

10.5
10

100e* e’ =$12337

10080.105' 2

10.5 10 11

10.5
11.4

4.1
r* T*
) - rT - T
T-T

4.1
% 0.116

11

zero—coupon yield curve

4.1

4.1

* * T
B=r +(r - =
(r-0T 7

r'>r

10
11

10.8
10.5

10.8

4.1

r>r>r

T -T

4.1

T=3 T'=4

4.1



qIr
+T—
r T
T instantaneous forward rate
4.2
4.2
4.3
bootstrap
4.2 6 3
3
97.5 2.5 3
259
+——+=
41 ng‘t o2 = 01012
10.12 6
2In +£9 =0.1047
& " 9108~
10.47% 1
Incl+ EQ = 01054
9009
10.54
1.5
6 $4
1 $4
1.5 $104
6 10.47%

10.54 $96

4.3



R 1.5
4e-0.1047' 05 + 4e-0.1054 + 1046- 15R - 96

e " = 085196

In(085196)
= 7 - 0106
15 8
1.5 10.68% 6 1
4.2
4.2
$ $ $
100 0.25 0 97.5
100 0.50 0 94.9
100 1.00 0 90.0
100 1.50 8 96.0
100 2.00 12 101.6
100 2.75 10 99.8
* 6
6 1 1.5 4.2
2 R 2

6e— 01047° 05 + &—0.1054' 10 + &—0.1068' 15 + 1066—2R — 101.6
R=0.1081 10.81%

5
3 $5
9 $5
1.25 $5
1.75 $5
2.25 $5
2.75 $105

10.12
10.505 10.61 10.745

&- 01012" 0.25 + 5e-0.10505' 0.75 + %-01061' 125 +5e- 0.10745 1.75 - 18018



99.8-18.018=81.782

2.75 R 2.25

2 R
01081 —+—
3 3

0.0721 R/3 R

5e 2.25 (0.0721+ R/3) +105¢e 275 R — 81782
R=0.1087 2.75
10.87
4.2 4.4

4.4 4.2

ex-pectations
theory

market segmentation

theory

liquidity
preference theory

4.2

4.3 1991 10 18
CBOT




15 15

6.5 10

4.3 1991 10 18

32 $100
90—05 $100,00
$90.156.25
+
1990 3 5
11% 2010 7 10 95—16 $95.50
1990 1 10
1990 7 10 1990 1 10 1990 3 5
54 1990 1 10 1990 7 10 181
$100 1 10 7 10 $5.50 1990
3 5 7 10
54 4 —_
ﬁ $550 =$1.64
2010 7 10 $100
$95.5+%$1.64=$97.14
$10,000 $97,140
4.3
1991 10 17 12 98—20
20
98— 100 000
32 3
$1 $1

000



15

15

conversion factor

$100

90-100

$3.00

$127.200

4.1

$100

4.2

157.05

$100 000
1.3800 $100
$100
1.38x 90.00 +3.00 $127.20
$100 000
8
3 CBOT
6
3
14 20 2
20 6
20
8
g L + 0 _ 159.38
2,104 104% T
1.5938
14 18 4
18 3
c3’6-—Z—+-——9——16373
ao 104 104%
J104-1 1.9804 3
163.73/1.019804=160.55
1.5705

3.5



30 CBOT

cheapest-to-deliver bond)

X +
+
- X
4.3
4.4
93-08 93.25
1 99.50- 93.25x 1.0382 2.69
2 143.50- 93.25x 1.5188 1.87
3 119.75- 93.25x 1.2615 2.12
2
4.4 4.3
1 99.50 1.0382
2 143.50 1.5188
3 119.75 1.2615
8
8
CBOT 2
4 8
invoice

price 2



wild card

play 2
3.7 F S
F=(s-1)em? 4.2
[ T
t r t T
4.2 F cash futures price S
cash bond price
1.
2. 4.2
3.
4. 15 8
60 122 148 35
4.5 4.4
4.4
12
1.4000 270
4.5 60 122
305 10
$0120

cash price



60
120+ —" 6 =12197
0 182 6 1978

122 =0.3342 $6
66— 0.3342° 01 - 5803

270  =0.7397
(121.978-5.803)e”™" °* = 125094

148

148
125094 - 6° —- =120242
5094 - 6 183 0.

12%

12%

8% 12%

1.4000 8%
120242

W =85.887

4.3

90
3 1,000,000
13 1
13
90 91
discount instrument

90 160
250

3.5
F =100e " €T =100e™" "

4.1

89

90

(43



F =100 &7 -1

8 T T 90
45 10%
135 10.5% 45
10.6% 4.1
45 135
135" 105- 45 10: 10.75%
90
10.6 45
135 10.6 10.75
1.
2. 10 45
3. 10.5 135
1 45
10.6
10.6 10.75%
10.75
1.
2. 10.5 135
3. 10.5 45
2
implied repo rate
90
1
2
4.5
146 $100 $95.21
56 90 $96.95 90 0.2466
146 0.4000 146 r

1
- ml n09521 = 01227



12.27

12.56

56
11.80

$100

2.04

8.28
yield
90

5
In0.9695 = 01256

" 02466

4.1

o rT - T -T)
B T

1227 146- 1256° 90
56

11.80

$100

360
==(100-Y)

discount rate
98 8.00

8.00
90

2, 365 _
58 op - 00828

$1,000,000

=100-
Y
Z7=100-4(100-Y)

=1180%

S 56
1
Y
90
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91 0.25 91/360 0.2528
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x 0.25

=$31.02 $30

$30
$31.02-$30.00=$1.02
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Klemkosky  Resnick 1977 7 1978 6
540
540 38



147

5 15
Resnick
7.9
max(S- Xe """V ,0)
S X r
max(Xe "™V - S,0)
D

max(S- D- Xe "™V 0)

max(Xe 'Y + D - S,0)

C+Xe'"=p+S

c+D+Xe" ™ =p+S

klemkosky



8.1

8.1

8.1
8.1 a

a covered call

protectiveput
8.1 a b
P
X
D
8.1
Xe ™Y +D
8.1

p+S=c+Xe" TV +D

8.1 d

S-c=Xe""Y+D-p

(81)

wnting



Xe "V + D 8.1 a
8.1 b 8.1 a
8.2
Spreads
Bulr reads
8.2
Xi X2
St 8.1
X2-X1
8.2
St-X1
8.2
8.1
Sz X, S X X2 Sr X2 Xy
X1 X St Xy S Xy
S5< Xy 0 0
X1 Xo(X2>X1

X2



8.

2.
3.
1
=X2-X1 1 2
1
$3 $30 $1
$35 $35
$5 $30
$30 $35 $30
$3 $1 $2
Sr< 30 2
30 S 35 S 32
Sz 35 3
8.3
8.3
Bearspreads
8.4
8.4

X1 X X1 X2 8.2

X2



X2-X1 X1 0 X2 X
-(S1-X1)
8.2
Sz X Sr=Xs X:=Sr -(X=X1)
X1 ST Xz 0 X1—ST —(ST—X1)
Si< X 0 0 0
8.2
$1 $35 $3
$30 $35
$5 $30 0 $30 $35
-(51-30) $3-$1=%2
Sr< 30 +2
S 35 2 S
Sr> 35 -3
8.5
8.5
Butterfly Spresds

X1



X3 X2

X2 X1 X3 X2
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14.1 14.1

Stock Time to Maqgturity(Months)
Price
a5 4 5 3 2 2 5 1 0
(dollars)

100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
95 0.02 0.02 0.01 0.01 0.00 0.00 0.00 0.00 0.00 0.00 0.00
90 0.05 0.04 0.03 0.02 0.01 0.01 0.00 0.00 0.00 0.00 0.00
85 0.09 0.07 0.05 0.03 0.02 0.01 0.01 0.00 0.00 0.00 0.00
80 0.16 0.12 0.09 0.07 0.04 0.03 0.02 0.01 0.00 0.00 0.00
75 0.27 0.22 0.17 0.13 0.09 0.06 0.03 0.02 0.01 0.00 0.00
70 0.47 0.39 0.32 0.25 0.18 0.13 0.08 0.04 0.02 0.00 0.00
65 0.82 0.71 0.60 0.49 0.38 0.28 0.19 0.11 0.05 0.02 0.00
60 142 127 111 0.95 0.78 0.62 0.45 0.30 0.16 0.05 0.00
55 243 2.24 2.05 1.83 161 1.36 1.09 0.81 0.51 0.22 0.00
50 4.07 3.88 3.67 3.45 3.19 291 2.57 2.17 1.66 0.99 0.00
45 6.58 6.44 6.29 6.13 5.96 577 557 5.36 517 5.02 5.00
40 1015 1010 1005 1001 1000 1000 10.00 10.00 10.00 10.00 10.00
35 1500 1500 1500 1500 1500 1500 1500 1500 1500 15.00 15.00
30 2000 2000 20.00 2000 2000 2000 20.00 20.00 20.00 20.00 20.00
25 2500 2500 25.00 2500 2500 2500 2500 2500 2500 25.00 25.00
20 30.00 30.00 3000 3000 3000 3000 3000 3000 30.00 30.00 30.00
15 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500 35.00
10 40.00 40.00 40.00 40.00 40.00 40.00 4000 40.00 40.00 40.00 40.00

4500 4500 4500 4500 4500 4500 4500 4500 4500 4500 45.00
50.00 50.00 50.00 50.00 50.00 50.00 5000 50.00 50.00 50.00 50.00

DS Dt
fi+17j
fi ’j M-1 (i’j)
w/9s s (i+1)) 14.22
14.24

E _ fi+lj+l - fi+1,j-l

1S 2DS

ﬂzf _ fi+:Lj+1 + fi+1,j-1' 2fi+:Lj
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Dt Dt
s?j*DS*Dt =s?S°Dt S 14.32
i+1 Dt iDt i Dt L
i+1 Dt T
- lert +E52j2Dt
2 2
1- s?j°Dt
1.1 ,,
> rjDt +§ s Dt
14.8 J= 13 3= 65 1- s?j°Dt
14.2 141
Stock Time to Magturity(Months)
Price T 0
(dollars)

100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
95 0.06 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
90 -0.11 0.05 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
85 0.28 -0.05 0.05 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
80 -0.13 0.20 0.00 0.05 0.00 0.00 0.00 0.00 0.00 0.00 0.00
75 0.46 0.06 0.20 0.04 0.06 0.00 0.00 0.00 0.00 0.00 0.00
70 0.32 0.46 0.23 0.25 0.10 0.09 0.00 0.00 0.00 0.00 0.00
65 0.91 0.68 0.63 0.44 0.37 0.21 0.14 0.00 0.00 0.00 0.00
60 1.48 1.37 117 1.02 0.81 0.65 0.42 0.27 0.00 0.00 0.00
55 2.59 2.39 221 1.99 1.77 1.50 124 0.90 0.59 0.00 0.00
50 4.26 4.08 3.89 3.68 3.44 3.18 2.87 253 2.07 1.56 0.00
45 6.76 6.61 6.47 6.31 6.15 5.96 5.75 5.50 5.24 5.00 5.00
40 1028 1020 1013 1006 1001 1000 1000 10.00 10.00 10.00 10.00
35 1500 1500 1500 1500 1500 1500 1500 1500 1500 15.00 15.00
30 2000 20.00 20.00 2000 2000 2000 20.00 20.00 20.00 20.00 20.00
25 2500 2500 2500 2500 2500 2500 25.00 25.00 25.00 25.00 25.00
20 30.00 30.00 3000 3000 3000 30.00 3000 3000 3000 30.00 30.00
15 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500 35.00
10 40.00 40.00 4000 40.00 40.00 40.00 40.00 40.00 40.00 40.00 40.00

4500 4500 4500 4500 4500 4500 4500 4500 4500 45.00 45.00
50.00 50.00 50.00 50.00 5000 5000 50.00 50.00 50.00 50.00 50.00

14.13
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yield curve model or term structure modle

15.8

dr =mr)dt +9r)dz
m s

@[e- &T-1) fT]

P(t,T) = e ]
R(t,T) t T-t
P(’[,T) —e R(t,T)(T-t)

R(t,T)=- T—%tln P(t,T)
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m(r) dr)
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15.9 Rendleman Bartter

Rendleman Bartter 15.10 m(r) dr)
m(r) = Mr,dr) = Sr M S r
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p
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d — e—&/ﬁ
_a-d
P u-d
a=¢e"
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5 u 1.1618 d 0.8607 a 1.0513
r 1

p 0.6329
10 15.5

4
8 $1,000 $1.000
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I:?J' =e " [ PP 1j+1+(1' p) Piij +C] (1516)
C 15.6
15.5 Rendleman Bartter
f. t +iDt
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J

= ma P, - 10000]
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15.6 Rendleman Bartter

15.7 Rendleman Bartter
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Rendleman Bartter
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15.9
15.11 Vasicek
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15.10 Vasicek
a B “ "
sdz
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é a 4a A
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15.10
Jamshidian vasicek
$1 s t T

P(t,9N(h) - XP(t, T)N(h- s ;) (1521)
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s, Pt,T)X 2
s, =V(t,T)B(T.s)
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v(t,T) = a
X
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a=0V(t,T)=sT-t,s, =s(s- T)J/T-t
JAMSHIDIAN
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X T
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I<isn s T
r* T r
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r
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c X,
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$98 3
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Jamshidian r*
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3.
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15.11 ©) r
Ar 20 r r 15.11 b
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(i 1Dt r
r, +kDr r k
(i 1Dt r r, +(k- )Dr,r, +kDr 1, +(k+2)Dr
r t r -Ar/2 +Ar/2
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dr = 0.2(0.125- r)dt + 0.01dz
At 0.25 r r, 0.05
,Dr=0.01/3" 0.25 0.0087 15.12
A r 0.05 At r
a(b- r)Dt = 000375
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r 0.005
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0.0174p, +0.0087p,, = 0.00462
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p, = 0039,p, = 0453, p, = 0508
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Rendleman Bartter
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15.12 Cox, Ingersoll Ross

vasicek Cox Ingersoll Ross

dr =alb- r)dt +s+rdz
Vasicek Jr

Cox Ingersoll  Ross vasicek

P(t,T) = Alt,T)e Bt™r
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g X 4xq
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Brennan  Schwartz

longstaff  Schwartz

15.14
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no-arbitrage model
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r(t) t
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F t,T t ft 7T T t
Pt T
dP(t, T) = r(t)P(t, T)dt +v(t, T) P(t, T)d(t) (15.23)



P
v(t.t)=0
ftT,.T,)
f (t,Tl,Tz) = ln[ P(t’Tl_I)_] ) l_::][ P(t’Tz)] (1524)
2~ 1
15.23
é t,T)°u
din[P(t,T,)] = g(t) i %édt wv(t,T,)dz(t)
¢ t,T,)" U
dinP(t.T,)] = g(t)- V(TZ)HLUt +v(t, T,)dzt)
ML) - ven)  deT)- v
of (t,7,.T,) = 2T di+ = (1525)
15.25 L % %
r p T r P
15.26 T=T T, T DT DT
ft T, T, FtT

dz(t)

v(t.7)°
AL

T
dF(t,T) = v(t, T)v, (t, T)dt - v, (t,T)dz(t)
dz t
dF(t, T) = v(t, T)vy (t, T)dt + v, (t, T)d't) (15.26)
t T VtT FtT
vVt T
15.26

Heath, Jarrow Morton V t T T=t 1=
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6VT(t,t)dt

v(t,t)=0
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v(t,T) = 6VT(t,t)dt

mtT s(tT FtT 15.26

m(t, T) = s(t,T)q‘; gt t)dt (1527)

F(t,t) = F(0,1) +(§dF(t,T)

rt) F t,T 15.26
r(1) = F(0.t) + Qult.hv,(t t)at + v (t.t)at) (1528)
t v(t, £)=0

dr(t) = F,(0,t)dt +{ (’;}[v(t,t)vtt (t,t)+v,(t ,t)z]dt}dt

+{ Oua(t ,t)dz(t)}dt +[w (t.1) -] dzlt)(15:29)

15.29
r
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vt t) v dz r
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volatility structure
15.27

HIM

15.13
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Ho Lee
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P(t,T) = Alt,T)e "™
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15.17 Hull White
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dr =(q(t) - ar)dt +sdz (15.30)
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P(t,T) = A(t,T)e BTr
1_ e—a(T—t)
B(t,T) =——
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Ho Lee T t
S
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T se T
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a 15.14 b 15.14 ¢
a a o0
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15.11 Vasicek
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t Dt i
r t Dr = s+/3Dt
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i
R i iDt
r r,+jDr
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nDt i<n 1 R i
nDt n 1 Dt R n
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2
q(nDt) =%(n+2) Rn+2)+ s Dt +$Iné Q(n,j)e’ 21, Durar; Ot (1531)
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q j* ] i1 ]
j* J
q(nDt) nDt r I,
n%j:dnm)-d%+jDﬁ (1533
nDt
M, O 15.11 Vasicek
15.5
15.15 a 0.1 o 0.014 t 1 15.30
Hull-White
2 3 4 5 10 105 11.0 11.25
g O Q 00 1,
2 0.105 15.31 ql0) 0.0201 15.33
0 0 r 0.0101 0 0
r 0.0101 0.014 15.15
0.045 0.493 0.462 15.32
Q1 1 Q10 11 0.041 0.446
15.31 0 t
15.15
3 4
dinr =[q(t) - alnr]dt +sdz (1534)

Black Derman Toy Black Karasinski
Inr r 0 t

Hull White
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A B o D E F G
Rate 10.00 7.58 10.00  12.42 7.58 10.00 12.42
P 0.456 0.044 0.512 0.420 0.288 0.223  0.167
P2 0.498 0.482 0.446 0.530 0.626 0.656 0.667
Ps 0.046 0.474 0.042 0.050 0.086 0.121 0.166

H 1 J K L M N
Rate 14.85 5.15 7.58 10.00 12.42 14.85  17.27
p: 0.122 0.042 0.453 0.368 0.292 0.226 0.170
[0 0.657 0.424 0.501 0.572 0.624  0.655 0.667
Ps 0.221 0.534 0.046 0.060 0.084 0.119 0.163
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Bermudan
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t, S Black-Scholes
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1 s{Ty
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g
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barrier option

CBOT CAPS
$30 $30
$30
CBOT
knockout option
H
H X
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up-and-out down-and-in
H H X
up-and-in H H X
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Cr-rp+s?/2
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SCY

lookback options
S S, S
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S
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Asian options
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max(O, X - Save) S.e
1
options
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s S S
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F F
t t F t F
T t
F F
16.2
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S 50 o 0.4
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